N11l/6th Sm.)-Environmental Studies-
(Commerce Group)/General

2020

ENVIRONMENTAL STUDIES
SIEISRITLIN

(Commerce Group)

(e =)
Full Marks : 75

[Only for B.Com. Part-III and 6th Sem. General Candidates]

Candidates are required to give their answers in their own words
as far as practicable.

TR Sy AT AT |

TETT (T AS Teawfer (1-25) TrEe 1x25
. G [AE weret Awm eefoma Tt
(1) «% eufe (2) GTefis et (3) o gwlfs |
1) s () 59 (3) 515G |

(1) @ TR IS Hifewl 27 =2 92 SR eerwa vifewl e =1 1
(2) ISR RAPTRCS IS T ¢ ©F <Gl T4
(3) eRGIfeR vifewt SRS SL-fET Saee |

. Ee @R TH-2I0%° B BAIT sioy =03 12

(1) FRER = Fofe 72

(2) AV CATF ST 77

(3) i I TR T =P 77 |

. QIR STeIN B I X I AR (1915 == ¢
(1) CRESIE-TRRIZ BRI 2

(2) FEFEIEA

() @fgn R |

Please Turn Over



[N(III/6th Sm.)-Environmental Studies-

(2)

(Commerce Group)/General

6.

10.

11.

12.

13.

14.

15.

16.

17.

18.

TS (S AIACE AR SRS Awf©?
(1) e e ek () IoTE =

. “fea-frifie 3t T argetg T
(1) Szt (2) TRYT
. SCPEIERIE AT S AFS TR I
(1) w0 ) R
. 7|RRS7 ererERel w7 (AT Telfae WieE A
(1) i st (2) Tereanfe (g-wiA «f&)
NN (I /SR ety w3
(1) <%=l (2) CAGIRTN
IEHIERISHACGIDACEIES
(1) SIPS-9 (2) T
oIS @A a9-Fip A< ?
(1) Fllbe eew @)R=ICHAGIC]
(oITel 2+
(1) o aeifs (2) 7 ewlfs
o™ @fba &l Wil 23 ¢
(1) foE (2) PrmaE
AT TS ATH
(1) s (2) grot
TR GUFE -G ACH TS GG e
(1) S TiZorize (2) SR TS
- PETgs @ e =3

(1) AT = & 73l (2) =T =l et el

Qe BT 1 Tg AT =7

(1) ©PEe-9 (2) TI TTfH-9

(3) wsfifa<s wfR|

(3) T |

(3) ™I

(3) corgiferasT |

(3) /=N |

(3) “Af*ETae-« |

(3) IFEaR e |

(3) a8 eS|

(3) sfecfGE|

(3) T GG |

(3) AT TG |

(3) SRS @I &t 77 |

(3) SIRIG B854 |



19.

20.

21.

22.

23.

24.

25.

26.

N11l/6th Sm.)-Environmental Studies-

(3) (Commerce Group)/General
ARSI ey TP #(1 =a
(1) Fere () W= (3) e |
2terS “IfFea3 a1 Wins Aifire Teamean 4190 = <8 It e
(1) ATHS coAatRIE (2) e wwe! (3) eTae ! |
(FC (TH I -9 Y HI”
(1) < Sfen awifed (2) =T i (3) R7Ma geiford |
IUCN-43 g4l =1
(1) SRCE, TJRaTETS () =infz, T (3) o, =ifgat |
O wHITe o8 g BOD Ad fgfefiie @fbg o ¢
(1) o5 GeAMaial (2) Y3 Sl AT Sa (3) ey TR® & |
oif Giree avia @efie 2emts It
(1) ZTGRFII (2) ATEmSIRE (3) AT |

g € BiRAe-9 g TF-9F 2GS T
(1) cownae (2) fortaelfz (3) ATErealF |

frafafie smawef 1 303 4338t @ f3fe/Rfoufe fgar
@I Efer Seaeite Srad I (2% 26-30) ¢ 10%5

e =M - S
TS AGOTET A4 (AT 251 TErd WS | sfeiFel Jfard 0 S (ARt el 23 21w @3 @i
TR (20 f37 oS Tpa G 7=emi (&6 AFT & Sl «feq Toid o7 03 | S M efafoufas
a7 LT T P TS T Ol Gt FA, R 2He 2 2 | St T e e wdis
G SHATRSITAR IR el (@0 — (SR G 3% i S%ters Irgeg 2|7 F0E @ Seofmeaie
“Afact BT fofes =31 | otenal, siffreEs «fed 932 e wdres s smidekiee e 33|

e @i sw 7w

(1) e we Jha =51 TolF AW A erifems sifafass @@ |
(2) =T B 2o 20 fil.-a7 ST STl 79w T |

(3) I [{ATFa (o) BoAMTaR ol FACATE 9 |

Please Turn Over



[N(III/6th Sm.)-Environmental Studies-

(Commerce Group)/General

(4)

AR - R

27. el ¢ 77 Y372 wwreld qgelfEs SRS T T | Ol e 2ifeRiTe A S Al T | ekl

28.

29.

eyE GeAMARIE G S o Iy ¢ Pfex Gely THTIN | Gergfies ok Sfewr a8y all fofers w1
R | “GIRTI FETCS @RI @ TS ST oI1% SR | N2 ([ 95 Genrgfiafeies S 0 | o &e Geijf
O | ‘G @ T Y32 Teovaiel | F9-a97 SomIaReTe] GEHEreld N | Sergf 2ot/ el
Reeiaiorm e Y72 Hek [ |

e @ ewl 7w

(1) Teief o Argelfes IR o 432 w&hifd |

(2) EghE 2wl AfREER Soh R @I 2R @@ |

(3) T =& GFECER TR @A M T |

SR - ©
TP 3Fg ACEIR 2ARPIRIA SR 2 5-6 7T N 2ffoqRg IFReETS FICe T AR | ZCH19, WSS F077],
AP FIA O N0 QeTIeTroIC (I, A I ST0ge] Gefalle] (39 SR (IR qie T3 407
TR | TR TG0 G I (0] AR FACCH 0T 0T 281 35 (soot) A ey il | Toterst 2em A<<siat
IS TRTelR FEel BN #Afzfow | g g arsiets1 Fi057 T a1 o1 oiF SRS maeeie IR @il
@ b e =7 |

e @i owl 7w

(1) wiferrmim Fefe gpmefe @ P tof T =1 |

(2) I CATHE G AT (@ FICF T T 91 =7 ©f 476 7MoF AMewa! |

(3) AP IMAFIS IFICACT (I ST 2T FCI AT M G O Fe] G P (ST 375 |

SRR - 8
I PR (Seismic) T (58 TS «fkfoe | @31 @R 2 a0e! q0el (66 T =IfS T wm ) ok |
«ft ST TSI Teoiw 2 3R T Ul 100 361 A SR @ e of | S, 431 5123l wajesiiesite
P 2N TS FHIS THTo oI | AHeTs Toifes cabufera S 2, wieal s siiza swaid cibef
AT A A (12 FRCNFECE 091 Al (R GRRCo1a Fel Sifarvize! 1l 906 AT | 947 we e zole T
FAPe 906 @3 RIS @GS TE Tela &3, $2 Sl A0 7 I ¢ IR GO off = | GO
Teore (AT 2T 2lfS 9GIm 800 ffir sfSTater wow e A o1 ST 03 | O STor8 S, GITare]
8 FOTTF T T4 TATE T AT | (G- 6T T [Fg (58-I Tl @ A |
A ST @i oG 7w w2
(1) ™, @1 A1 WPeArS-ag T AR 20 AT |
(2) R THifretE FAIRE Tesife 10 |

(3) FAIN erarere =Te AN |




N11l/6th Sm.)-Environmental Studies-
( 5 ) (Commerce Group)/General

SRR - &

30. +faSite e SRl M tofd ERtha | AEeRetin *=wt e viEeit s s | @ha
27 o<l =71 fog e o 29 com oewy; widfie GiRtafba =51 @3 Ree Gitas evizce At simesy | [{esd
g SRl @FEOIT ifEre 73 | @ oriafer e Srets sTspf At sikRRmeIt SR, ©iE eefors eipd
TZ 8 S A QTS 2l SME | I3 4707 (feTcs @aeieitit o ae— @ww frfew, gifee,
Biw, T3, @RS, sireifas T Reikfers, 23R, SR, BTt @R, Mo, IR, @R,
Corze, Ffreiize, we ofErsl @ (STgEe | Tolaat 3 Semeftne [RerTaa/ /e SeE SIite |
G afoa T i wifs e
(1) SECe GRERbG M7 2(ee EE GTHEE T 73 |
(2) res ¥ GRtaha TSR AiTs |
(3) wEre @ffRIE 1 o TSRSt (TR St SR Y |

[English Version]
The figures in the margin indicate full marks.
Single answer type questions (1 to 25)
Write the correct answer of the following questions in the answer script (1 to 25). 1x25

1. The species restricted in one specific region is called

(1) Edge species (2) Endemic species (3) Keystone species.

2. World Environment Day is celebrated on

(1) 5th May (2) 5th June (3) 5th August.

3. Sustainable development means
(1) development that meets the need of present without compromising the needs of future generation
(2) maximizing the present day benefits through increased resource consumption

(3) socio-economic development considering human need.

4. Which of the following is not an example of non-point source?

(1) Agricultural run off (2) Run off from streets (3) Specific industrial effluent.

5. Ozone depletion in stratosphere is linked to the chemical :
(1) Dichloro-diphnyl tri-chloro ethane
(2) Chloroflurocarbon

(3) Benzene hexachloride.
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6. Which of the following is the most environment friendly agricultural practice?
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(1) Using chemical fertilizer (2) Using insecticides

. Pyramid of energy in a terrestrial ecosystem is always

(1) Inverted (2) Upright

The final stable community in ecological succession is called

(1) Climax (2) Pioneer

. Energy from the heat inside the earth is

(1) Natural gas (2) Geothermal

Which of the following is not a fossil fuel?
(1) Coal (2) Petroleum

Periyar National Park is located in
(1) Assam (2) Kerala

Which of the following indicates ex-situ conservation?
(1) Captive breeding (2) National Park

Dodo is a/an
(1) endangered species (2) rare species

Earthquake is measured by
(1) Barometer (2) Seismograph

Biogas contains mainly
(1) methane (2) propane

Greenhouse effect is primarily linked to

(1) Carbon dioxide (2) Carbon monoxide

Blue baby syndrome is caused by the contamination of water by

(1) phosphate (2) arsenic

Ozone concentration is measured in
(1) Decibels (2) Dobson unit

The state bird of West Bengal is
(1) Drongo (2) Peacock

Each environment supports a limited population depending on its
(1) Biotic potential (2) Carrying capacity

Red Data Book contains data of

(1) all plant species (2) all animal species

(3) Organic farming.

(3) Linear.

(3) Sere.

(3) Petroleum.

(3) Uranium

(3) West Bengal.

(3) Biosphere reserve.

(3) extinct species.

(3) Anemometer.

(3) carbon dioxide.

(3) Sulphur dioxide.

(3) nitrate.

(3) Angstrom.

(3) Kingfisher.

(3) Reproductive potential.

(3) threatened species.
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IUCN Head Quarters is at
(1) Morges, Switzerland (2) Paris, France (3) Vienna, Austria.
A river with high BOD value indicates
(1) Highly productive (2) Good quality of water (3) Highly polluted.

Increase in concentration of ionic level in each trophic level is referred to as

(1) Eutrophication (2) Biomagnification (3) Bioaccumulation.

Study of trends in human population growth and prediction of future growth is called
(1) Demography (2) Lithography (3) Biogeography.

Read the following passage carefully and only write the correct statement/statements
in your answer script (26-30) : 10x5

Paragraph - 1

Vertical stratification is a key feature of aquatic ecosystems. Light decreases rapidly with depth and
communities below the photic zone (about 20m deep) must rely on energy sources other than
photosynthesis to persist. Deep ocean species often grow slowly in part because metabolism is reduced
in cold condition. In contrast, warm, bright near-surface communities such as coral reefs and estuarine
ecosystem are among the world’s most biologically productive environments. Temperature also affects
the amount of oxygen and other elements that can be absorbed in water.

Which of the following statement is True?
(1) Very rapid growth is a characteristic feature of deep ocean species.
(2) A-photic zone is a zone beyond 20m depth.

(3) Coral reefs are biologically least productive.
Paragraph - 2

Wetlands and rivers provide important ecological services. They play irreplacable role in hydrologic
cycle. They also are often highly productive and provide food and habitat for a wide variety of species.
Wetlands are identified by their vegetation. Swamps are wetland with trees. Marshes are wetlands
without trees. Bogs are area of saturated ground. Swamps and marshes have high productivity. Bogs
have low productivity. Wetland losses are one of the areas of greatest concern among biologists.

Which of the following is True?
(1) Wetlands are significantly important due to their ecological services
(2) The decline of wetlands does not have major impact on the environment.

(3) Marshes are a type of wetland with trees.
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Paragraph - 3

The World Health Organization estimates that some 5-6 million people die every year from illness related
to air pollution. Heart attacks, respiratory diseases and lung cancer all are significantly higher in people
who breathe dirty air compared to matching groups in cleaner environments. In industrialized countries,
one of the biggest health threats from air pollution is from soot or fine particulate material. Diesel
engines have long been a major source of air pollution in some rural areas, smoke from wood stoves
or burning crops remain an important soot source.

Which of the following is True?
(1) Fine particulate matters do not cause any respiratory illness.
(2) Cooking in wood stoves in rural areas is a right choice to control air pollution.

(3) The most common route of exposure to air pollutants is by inhalation and they cause different kinds of
diseases.

Paragraph - 4

Tsunamis, also known as seismic sea wave, are a series of very large waves with extremely long wavelength,
in the deep ocean, the length of crest may be 100 m and more. It is usually generated by sudden
displacements in the sea floor caused by earthquake, landslides or volcanic activity. Most tsunamis, including
the most destructive ones are generated by large and small earthquakes which usually occur near geological
plate boundaries or fault-lines, where geological plate collide. When the sea floor abruptly deforms the sudden
vertical displacements over large areas disturb the ocean’s surface, displace water and genarate tsunami
waves. The waves could travel away from the triggering source with speed exceeding 800 km/h over very
long distances. They could be extremely dangerous threatening and damaging, when they reach the coast.
The wave velocity will decrease accompanied by increase in wave height.

Regarding Tsunami, which statement is wrong?
(1) Tsunamis may cause by earthquake, landslide or volcanic activity.
(2) Tsunamis originate in the oceanic surface.

(3) Tsunamis could be life threatening.

Paragraph - 5

Biodiversity comprised of the whole life on earth. The word ‘biodiversity’ is synonymous to biological
diversity. Diversity is a concept which refers to the range of variation or differences among some set
of entities; biological diversity thus refers to variety within the living world. Biodiversity is not distributed
evenly or uniformly across the globe. Certain countries lying wholly or partly within the tropics are
characterized by high species richness and a high number of endemic species. These countries are
known as megadiversity countries, namely viz. Bolivia, Brazil, China, Columbia, Costa Rica, Democratic
Republic of Congo, Ecuador, India, Indonesia, Kenya, Madagascar, Malaysia, Mexico, Peru, Philippines,
South Africa and Venezuela. Unfortunately, these areas are also under constant threat of destruction.

Which of the following statement regarding biodiversity is True?
(1) Biological diversity is rich in India, while significantly poor in Brazil.
(2) Biodiversity is evenly distributed across the globe.

(3) Not all countries of South Asia are included under megadiversity countries.



